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|.  Find the first four terms of the given sequence and state whether it is arithmetic, geometric or

neither.
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Il.  Find the recursive and explicit rules for the following arithmetic or geometric sequences and
find the 50" term.

a. 8,6,4,2, ... b. 24,-12, 6, -3, ...
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[ll.  How many terms are in the arithmetic sequence 18, 24, .. hat is thrm’?
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V.  Find the indicated term of the sequence B
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V. Find th@f the arithmetic series and make sure to write out the summation notation. %L\@
a. SZDU = 18, tzog =472 b. @ tq = 5 t3 = 11
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VI.  Tell whether the described or given sequence converges or diverges. If it converges, tell at

what value it converges to.
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VIl.  Determine whether the geometric series converges. If it does, find it's sum
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Find the sum of the geometric sequence and write the summation notatlon (2)
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